Spiel: KV Mutterstadt 1 - KV Mutterstadt 2 vom 06.01.18

Spieler: Johannes Hartner Ergebnis: 625 Holz
Bahn5 Bahn 6 Bahn 8 Bahn 7
Wurf Holz Wurfbild Ereignis Fehler Gesamt Wurf Holz Wurfbild Ereignis Fehler Gesamt Wurf Holz Wurfbild Ereignis Fehler Gesamt Wurf Holz Wurfbild Ereignis Fehler Gesamt
1 4 ogjte 0 4 1 7 osite 0 7 1 5 o3fso 0 5 1 6 ogfse 0 6
2 7 otise 0 11 2 5 wsft 0 12 2 8 otfse 0 13 2 6 o3fse 0 12
3 8 osise 0 19 3 8 s2fse 0 20 3 9 s3ise 0 22 3 7 o3ise 0 19
4 7 ozfte 0 26 4 8 s3ise 0 28 4 9 e1fze 0 31 4 9 o3ite 0 28
5 5 o3ite 0 3 5 4 ogige 0 32 5 7 otgze 0 38 5 7 o3jse 0 35
6 9 *3ite ] 40 6 8 s3fi 0 40 6 3 ot§se 0 41 6 4 osfge 0 39
7 4 =83so 0 44 7 B =ifte 0 46 7 7 o3fso 0 48 7 3 oslge 0 42
8 8 osfie 0 52 8 3 og§go 0 49 8 7 otjze 0 55 8 6 o3fte 0 48
9 4 o8§te 0 56 9 7 otite 0 56 9 9 *3j2e 0 64 9 3 o§fse 0 51
10 9 et 0 65 10 5 ot§se 0 61 10 7 ogjse 0 71 10 5 o2ite 0 56 -
1 9 s3ite 0 74 11 4 o8§se 0 65 11 9 *2ise 0 80 1 9 *3ite 0 65
12 8 e3§te 0 82 12 7 otite 0 72 12 7 o8ise 0 87 12 3 8§80 0 68
13 3 o8§se 0 85 13 7 ogfte 0 79 13 5 o8jso 0 92 13 7 esfte 0 75
14 4 *8ig0 0 89 14 7 otfte 0 86 14 5 o8so 0 97 14 8 it 0 83
15 7 otfte 0 96 15 5 ot 0 91 15 6 o8}se 0 103 15 6 otige 0 89
16 8 otite 0 104 16 6 oaite 0 97 16 5 ot§se 0 108 16 9 R A 0 98
17 1 oggge A 0 105 17 3 *238e A 0 100 17 1 o3§ge 0 109 17 6 *3320 0 104
18 9 HE A 0 114 18 6 *2fse 0 106 18 2 o8§3s 0 111 18 1 o3§8e 0 105
19 9 otfie A 0 123 19 2 =3§ge 0 108 19 1 *3§se A 0 112 19 0 03380 F 1 105
20 6 o8dse 0 129 20 1 ogfse A 0 109 20 5 «8f30 0 117 20 1 og§ge 1 106
21 2 *3380 0 131 21 7 otfte 0 116 21 3 ot§ze 0 120 21 1 *3§3s A 1 107
22 1 o83ge A 0 132 22 2 *3g8e A 0 118 22 1 ogfge A o 121 22 3 ag§se 1 110
23 5 atfze 0 137 23 8 o3fte 0 126 23 6 o8fse 0 127 23 4 3330 1 114
24 1 og8ge 0 138 24 1 #8380 A 0 127 24 3 *8fg0 A 0 130 24 2 sgigo A 1 116
25 2 o8§ee 0 140 25 7 o8ise 0 134 25 9 o3ize A 0 139 25 9 23t A 1 125
26 1 =8§80 A 0 141 26 1 o3gge 0 135 26 9 3se A 0 148 26 9 stite A 1 134
27 8 =gjze 0 149 27 1 =33se A 0 136 27 7 tse 0 155 27 6 ogjse 1 140
28 1 o8§80 A 0 150 28 8 o33se 0 144 28 0 *8§ge F 1 155 28 2 o2§8e 1 142
29 9 o832 A 0 159 29 1 =338e A 0 145 29 2 o832e A 1 157 29 1 *8§30 A 1 143
30 5 o8§3e 0 164 30 7 o3fse 0 152 30 7 *3f20 1 164 30 2 ot§ge 1 145
Volle: 96 Abr: 68 Volle: 91 Abr: 61 Volle: 103 Abr: 61 Volle: 89 Abr: 56

Fehler: 0 Gesamt: 164 Fehler: 0 Gesamt: 152 Fehler: 1 Gesamt: 164 Fehler: 1 Gesamt: 145




